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SECTION – I 

Answer in one or two sentences. Attempt all questions. 

1. Privatisation 

2. Industrial sickness 

3. FDI 

4. Industrial Location 

5. Capital Output Ratio 

6. Monopoly 

7. Plant 

8. Price Discrimination 

9. Firm 

10. SEZ 

    (10 × 1 = 10 Marks) 
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SECTION – II 

Answer any eight questions not exceeding one paragraph.  

11. Industrialization 

12. Disinvestment 

13. Industrial Productivity 

14. Industrial Economics 

15. Competition Act 2002 

16. Corporate Social Responsibility 

17. MUDRA Scheme 

18. FEMA 

19. Mixed Economy 

20. Location and localisation of Industry 

21. Liberalization 

22. Heavy Industry Strategy 

  (8 × 2 = 16 Marks) 
SECTION – III 

Answer any six questions not exceeding 120 words. 

23. What are the features of MRTP act 1969? 

24. Examine the consequences of industrial Sickness. 

25. Examine the factors which influence location of an Industry? 

26. Examine some of the important factors which influence industrial Productivity? 
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27. Discuss the meaning and rationale of Privatisation. 

28. Examine role of Small- Scale and Cottage Industries in India Economy. 

29. Examine the features of New Industrial Policy 1991? 

30. Write a note on Navaratnas, Maharatnas and Miniratnas. 

31. Discuss briefly the Sargant Florence’s theory of location of industry. 

  (6 × 4 = 24 Marks) 
SECTION – IV 

Answer any two questions, not exceeding four pages.  

32. Critically Examine Weber’s Theory of Location. 

33. Discuss briefly the problems of Industrial development in India. 

34. Discuss briefly the problems of public sector Enterprises in India. 

35. Discuss changes in the industrial pattern during the plan period. 
 (2 × 15 = 30 Marks) 
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